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QUESTION 1

Which stereotype is used on a dashed arrow joining an instance value to a constructor?
A

B.

C.

D.

E.

Correct Answer: B

QUESTION 2

An employee inadvertently removed all of the ownedMembers of the new BoosterMotor component from his
company\\'s development repository. The next day, the manager was unable to find some pieces of the BoosterMotor
component\\'s specification. What pieces could the manager no longer find? (Choose two)

A. the component\\'s isindirectlylnstantiated attribute

B. the component repository

C. test scripts for the rocket sled simulation

D. the launch assembly housing the BoosterMotor

E. failure mode use cases

Correct Answer: CE

QUESTION 3

What kind of relationship is an information flow in UML 2.0?
A. dependency

B. transition

C. connector

D. association

Correct Answer: A

QUESTION 4
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In the exhibit, what does the protocol state machine in the diagram specify?

S2
m2/

[C2]m1)
m3/

A. Either condition C1 or condition C2 must be true before the associated classifier can be invoked.
B. Both condition C1 or condition C2 must be true before the associated classifier can be invoked.

C. Only behavioral features m1, m2, and m3 can be invoked on instances of the associated classifier.
D. A client of the associated classifier must always first invoke behavioral feature m1.

Correct Answer: D

QUESTION 5

What is a protocol of an interface?

A. procedure that implements the communications-based behavioral features of the interface

B. kind of behavior that describes the implementation of the object that realizes the interface

C. kind of state machine that defines ordering constraints on the behavioral features of the interface
D. interaction specification associated with the interface

Correct Answer: C
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